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PART - 11 : SCHOLASTIC APTITUDE TEST
(For Student of Class VIII)
Time : 90 Minutes Max. Marks : 90

§3. INSTRUCTIONS TO CANDIDATES
Read the following instructions carefully beforé you open
the question booklet.

f. - Answers are to be given on the same OMR answer
sheet provided for Part -1

There are 90 questions in this test. All are
compulsory.

The question numbers 9i to 1107 belong to -
Mathematics, 111 to 145 pertain to Science and 146
to’180 are on Social Science subjects. .

Choose the correct answer from the options given -°-
for each question and darken the corresponding -~
circle with blue / biack ball point pen in the OMR
answer sheet. :

- Since the time allotted for this question paper is very
limited you should make the best use of it by not
L»spending too much time on any one question.

If you do not know the answer to any question, do

not waste time on it and pass on to the next one. If
_.time permits, you can come back to thé ‘questions, )

which you have left in the first instance and attempt -

them.

.Rough work can be done anywhere in the question
booklet but not in the OMR sheet / loose paper.

Each correct ang'iver will be awarded one Mark.

9.+ Blease return the OMR Answer sheet only-to the
- ginvigilator after the test. You can retaiti the guestion
Booklets.

10,1, English version of the question paperwill be
considered as final in case of any dispute arising out
of variation in translated version.

I1.. .Quote your seven digit Roll number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING
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saflgin | MATHEMATICS

(-2.56 x 4.2)" = coeemeev
10 2) 1
3) 10.752 4) -10.752
. . o B . . 49
6THS  6T6UT GUIL. 6T ¢ 35 Glueme o
SemL&@GL. ‘
4 -4

5 -5
3); 4) T

(12 x 33) - (42 +53) =t
1)4352. 2)4§

Pyl 4) 623
23 32

v0.0000313 6-sir w1y smars.
1) 0.0056 2) 0.056 .
3) 5.6 4) 56

0,2, 6, 12, 20, 30, ---aNBHLI_L sTEvTENERTS
SIT600T S,
1) 40
3)42

2)48
4) 46

(% HIMHSTL suenTIL 668705 Qs metrgy
Qam_irumm J|eTe,&6T GgHeme.
1)3 2)4

3)2 45

(PS6L 5 U eTevET SH6flstr
@ flamsuwimsmg)

1)3 2)5
3)2 4) 7

388/4—2

91.

(-2.56 x 4.2)" = —meneuric ‘
1o 2) 1
3) 10.752 4) -10.752

Which number should be added to
- to cet —?

6 40 830 \

1) ; 2) ?

5
3);

(15 x3)- (e

14 242
.23 32

3632 dy6 22
23 32

Find the value of ¥0.00003136
1) 0.0056 2) 0.056
3)5.6 4) 56

0, 2,6, 12, 20, 30,
missing number.
1) 40
3)42

. Find the

2) 48
4) 46

How many independent
measurements are needed to
construct a quadrilateral?
N3 2)4

3)2 4)5

Find the median of the first 5 prime
numbers

1)3 2)5
3)2 . 47
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. Qeulips QamsTEmLd LeTef] ————
) HoL0sTmen :

2) QemiE 5815 Cgramevey -

3) gy &lisirerl

4) @supmisT eTgia|Lblsvsmen

b, QssiusSHr ussHIsT Sx+2
LD 2x+3 erefien, Sigserm
TR —====

1) 3x -1 S 2)7x+5
3) 14x + 10 4)7x+10

a-@ir eeTfled e LBIGL sir m—@sir
& oSl QL
<4 gg’u . S

;(2a+m) 2 2+(§“
3)§a+m H2(Ga+ m)

é’ﬂ@ég@ég_ UKD eLedTm) @@gésassfﬂs&r
(560 39. giHled @lretrLmeug)

2) 11
4) 14

Z=10 steufléd, Z° - 3(Z-10) v

2)7
4) 1000

QI saiorawileir eLpeiTlsd e Lkiestr
wreiTeled 6 Uil sLfleb s(h LG
20 steuflsb, 961iGleussar

1) 420 N 2) 240
3)1680 - 4)560

- 33 % % @6ir H&L culg LD
o3 2) 0.36
3)0.03 4) 33.3
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. .. The poin'f of intersection of x-axis and
y-axis is L
1) Abscissa

‘2-)1,(;).rdinzllte‘

o -3) Origin -~ ‘4) None of these

If the sides of a rectangle ére .55&+2
and 2x+3 then its perimeter is

1) 3x-1 “2)7x+5
3) 14x + 10

TR X+ 10

The algebraic expression of double

_ the sum of one third of a and m is
D3 (2a +m)

22+(5a+m)
3)§a +m 4)2(§a +‘m)

If the sum of three consecutive
integers is 39, then the second number

1) 12 2) 11
3)13 H14

If Z=10, then the value of
7’ - 3(Z-10) is
1) 10
3)3 4) 1000
If one-third of one-fourth of one-
seventh of a number is 20, then the
number is h
1) 420 - 2)240
3) 1680 . 4560

: \\ ¢ 1.
The decimal form of 335 % is -

)03 2) 0.36
3) 0.03 4) 33.3

http://www.trbtnpsc.com/2014/02/amms-exam-study-materials.html |
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oo o amel elOHND, ubyE  Elwedr 105, The tax in arestaurant is 1.5% of the
Cursss Gemmsullsd 1.5%  aufursd total bill. A family of 6 members paid
Qupiu@Hing sterfled, 6 HuTassT GlemerorL a bill of Rs.750. What is the tax for

- GOULUGHN Curssid €5.750-6@: 2 mrey their bill amount? - N4 )
SmrSarmed QumiuGILD eurfluflssr 1) Rs.112.5 2) Rs.761.25:
i  3)Rs.11.25 4) Rs.812.5
1)Rs.112.5 2) Rs.761.25 ;

3 Rs.llvl.25v - 4)Rs.812.5 " ‘ _ Lo

. )% @;ﬁ]ULﬂH_ ,gq&surrmgj 8% Gl,lL.Ly. . A'sum of money triples itscll{a}!nﬂ Yo
n&’g,gé]m ""7T‘ Iy e a6l eLpstrm ' per annum over a certam tlmc Fln(l
LOLTRIST(ELD. the number of years. ks

1S 2) 25 Hs - 2) 25
3) 10 4) 20 . 3) 10 . 4)20

wifie

R

! .‘fﬁggeimrL.mm,rﬁ]m A—@m mé]uu ————e . The value of A in the followmg IQ
A % 4A .
X A : XA

27A . . 27A

1" cornem—————

)4 s 14 2 2)S
g o 4y 36 Hi

[ g . o — ;-
/4 + le +/5 4 /121 = cmeeemen ,I /21 + \/”’1 171 =
X \ ) ‘

N

D1 w22 n1 2)2
3)3 - 44 , 3)3 4) 4

QarG&sUIULEL. UL GE6 618 menr . How many triangles are there.in this
WPSCHTEMTRISET 2_6iemenT ? figure?

388/4—1a
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2% x (3% = wmemee 110. 2% x (3% = commems
o ; |

1) = 2) i

.’_; ‘ 81

3)3 4);;

aflafius / SCIENCE

&6y GarGssiulL uLgdo S 111. If the side of each small cube is 2¢m in
SMEFFITLD el UsaLD 2 G5 eTeufled length, find the total volume of the cube
Ouflw seré FgITSElstT LimLo6iT in the given figure.

7 Y ey

%

4 | | /

1) 8 Qe 2) 64 Qeuf® 1) 8 cm’ 2) 64cm’
3) 192 Q&5 4) 32 Qg.5° 3)192cm’ 4) 32cm’

R Sofl cmgmem MGG osgeler . Time period is measured by using a

QemeCrTd SamsALILESDS. WNery simple pendulum. Time period is

geufl amsslier Flenpeni oiHafss 6 measured once again by increasing the

oar&60leir Borg sy SjmeaGEI mass of the bob with the same length of

sa &AL ILGSDS!. sHGUTDSL the pendulum. What is the new time

|60 GrBTLD period of the pendulum?

1) siemevay GBTid wrmieHbme 1) Time period will not change

2) gjsnevey GEId YHsfsSmE) 2) Time period will increase

3) symaey CHTLd GmnSng) 3) Time period will decrease

4) ismevey GHTLD (gebley saé'&'ﬂw . 4) Initially the time period will increase
ety @mﬂm@ and then it will decrease.

0 Qasvafleflsir HumyeiTQll SieTey . Convert 0 Kelvin to Fahrenheit.
1) 0°F 2) -459.4°F 1) 0°F . 2)-459.4°F
3) -449.4°F 4) +449.4°F 3) -449.4°F 4) +449.4°F

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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114. aSlemgwrearg)

i) spiitey Blsmevuliguiver s(m QT emeT
Qunisg QEiiuem.

i) @wsssHe 2 sier e(r Qumrmerflsr
Coussems wrhmeod.

iii) Qumrmaflsr augsuSemg LwmHmsumd

iv) Qumrpeflsir flenpeniu wTHMeuMLD.
Gupssir_aubBles sflurer & Hyser

1) i, ii Lngi)m]lh iv 2) i, ii LoHEUD i

4) i, iii LDEID iv

R O&susus auigat Qem iy Brme
;_f,hrﬂui:ui@sirmgj 10 Q&5 g5 S
S|S6T é'il@gi.@m (g—str gy 9.8 Lﬁ'/sﬁﬂ
1) 98 Nm~ 2) 9800 Nm

3) 980 Nm™ 4) 9.8 Nm™

LBletr esrrpbg,g,gl_m Qsm_iy @eers

& D)

1) Bersmbsin Afw @S siement.
FHT & @LD.

2) H&Grmd 2 Carsseaame
sramhe S0 LTSNS

3) Wistramy Lenflulls lsTaTHSL0 2 6Temgy.

4) 2 GersSHlsir eufiGu ilsarCeirm i
unyGurg) oE5mears snm S
LJ60LD 2_(heum(@L.

Wiletr ‘BOWRlemeuudlsd 2 6irer e GlLimmemeT
flsrgm e Quim @ Qurmsflermsd

@sm_moGaGw
Qaind (empy
1) 2_gmieflsar ewpeuid WlssrGerm L ia
G]umjgsu
2) L5560 eLpeuLd Lﬁlm(‘émm_t_m I IWE
G ev.
3) greT(HF6L eipsuld LilearGeormL LD
L IWE Qg
4) sThESSHEeT epeotd LisirGearm L1
oL tuE Qaig .

(BlsiTemL L LosmL_ W&

114.

117.
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Force may change

i) the state of 2n object

ii) the speed of an object
iii) the shape of an object
iv) the mass of an object
Find the correct statements
in the above
1) i, ii and iv 2) i, il and iii
4) i, iii and iv

A rectangular storage tank is ﬁlled with
water. The value of g is 9.8m/s’. What is
the pressure at a depth of 10 cm"

1) 98 Nm™ 2) 9800 Nm™

3) 980 Nm™ 4) 9.8 Nm™

Which is not related to electro magnet

1) An electro magnet attracts a piece of
iron.

2) Nichrome alloy is used in .
electromagnet

3) Electric bell has an electromagnet.

4) Current passing through a metal
produce magnetic field around it.

g5

A neutral object can be charged even

without touching the neutral body with
a charged body. This type of charging
is called

1) Charging by friction

2) Charging by conduction

3) Charging by induction

4) Charging by magnet

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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118:.: @reor@® lsiraeuid, @revor® heiruedys e 118: -When two cells, two balbs and switeh
wmmitd srall @eme GgTLT @lsnemriidish are all connected in series, the electric
- @emeurssLuEL GuTg 9SneTeT circuit can be represented by
Wistrammlener Ss @I Herer
uLtusafledlmhg CaibsHidsan.

———
st
o

o ) J | : Winlah 3 .
. l E
e

N’

19, 8@ ol sarg ailpHE G0 119. A student goes for a walk in the park
- esiter yasreflie peoLufihdésns " near her house. She starts from, point
Glesurg_nrrsrr Sjeust A srerm usirsflulsSlm b ‘A’ walks in a rectq‘ngular path of
BL&& g rollsg) 718 Berpid 38 length 7m and bre‘ulth 3m. She returns
SR 2_6Tar R GlesissliLmmails to the same point ‘A’. What is her
L8 W@ A ysefleniu jeoLSmme. displacement? o

J|6u6T YiewL5s @I UQuTEH I 2 ST

P P m - - -
A : = W

A

' H

A 1) 10m 2)20m
1) 108 2) 2018 HOm 7 H2lm
3) 015 4) 2118 )
' P AT B+l £, ! p
aunaahisefle srauiu@ eeLT Wi i 120. What does the ' odometer of an
@os gerail. uwsTuGHmE. - .automobile mejl‘g l;e" |
1) Gousitd 2) Qg memevey 1) Speed | 2) Dlstamc ‘

3) SwaGoust  4) @@5&"“ te. 3) Velocity - )Acceler.ntmn

)(mm

httb://www.trbtnpsc.com/2014/02/nmms—exam—study—materials.htmI
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121. EXAMINATION 6T6IT(Y sumrgsmguﬁlm 121. The image formed by the plane mirror
.. UG oy oL of the word “EXAMINATION”

1) EXAMIMATIOM . 1) IXAMINATION

2) awimvuom - 2) AIXVYWINYLION

3)M0|TAMIMAX3 . 3) UOITANIMAXS

4) EXANHNAT!ON 4 EXAMINATION

Gmaﬂuﬁlm fimenf] _E@LSGLGUTEI 122 Vegetable Briyani, when cooked, its

S|S0 surrgmenT SHYIIYDD  (PPGID aroma spreads nearby eurroundmg '

uTeUS. eI ? This is due to -

7 sumusﬁ]m 5*—'%5“" (505"5&@156" 1) The free particles or molecules of gas
iG] ST, 2) The high speed of the gaseous

2) sumy epeudan misafler 2 wit Geoussid. particles or molecules. .

3) oumy epadio QsEHSSLCW 2 sTer 3) The large space between them.:

I|5& @sm.@susrﬂ _ 4) All the above.
4) Gups e’ g|emerSEId ' ~

——==—— WTGUTg UGLEUT@ET ®@%  123. On varying the , the matter will

Remeoufledlmhs m!meF([B - Deoede change from one state to another.

LOMHMLD SyemL b, 1) pressure .~ 2) volume

1) Swssih  2) ugmLoer 3) temperature  4) density

3) G]ml]u;ﬁ]smsu ) 9LisdH

22 NS R

éﬂ,“”l—‘“‘ﬂm g UiphGlI6Ter  Senmaamer 124. Which is used as.a stam remover in
' $Gurrasaa 2 5646ug] 675 ? L .. -clothing? w el

1) Gampuid AL Tréaman . 1) Sodium Hydroxide  eno

2 Quéaffub man’ mémmE 2) Magnesium Hydroxide =

3) sradwib mant’ TrsmaE 3) Calcium Hydroxide . .

% algutﬁlwﬂww mw-%mm@ | | 4) Aluminium Hydroxide

G\un@ggngmga& asm(ﬁitﬂg&&mm . Find the odd one out:-

1) Olloed . - : 1) Litmus

2) Logpaer G : : ‘ 2) Turmeric powder

3) Qg Hsd gyirEss: e 3) Methyl Orange

4) é]suﬂu,g;n{.&pﬁ.@ansfu & _ 4) Red cabbage juice Syl
- SELRES

ALAS gpbevd+Gempuib-sou-smiuGan.  126. Citric acld + Sodium bncarbunate —

—> o+ 2 +BF ' :y salt + 2 + water

1) smiusr Gmirsurrrassmsm@ 1) Carbon monoxide

2 a;rrrrusur—ml_—%ésmsm@ . 2) Carbon di.oxide

3) &muﬂme—%&Gﬂ)ﬁm(ﬂ g " 3) Sulphur di oxide

4) smg;l..rﬂas .gg,assmm@ 4) Nitric oxide

"http://wWw.trbtnpsc.com/2014/02/nmms—exam—study—materials.htmI
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127, QuCGrrgLer 6B SOSDTMES 127 Whlch alcohol is allowed recently by
© GG LwsTURSSeinD eTer WSS 9|Ts "“‘the central government, to be mixed
BHGUTG YgnuBuefsgiereng: ? with petrol and used.

) yrtuesrmed” - 2) Syt L eurmed - 1) Propanol 2) Butanol
3) srgeurmes 4) Qg germed 3) Ethanol '~ d) Methanol

128. Spsaam_oupyet o5 @oewdmst 128, Find the zero valent element from the
ggglunh Q& mevorL gsuﬂmLh %@Lﬂ ? T 'fo'llowing,' A
LEEA G 2) gmedlwid 1) Zinc 2) Calcium
Dol 4) Gamgwd 3) Helium 4) Sodium
) _ 4
129, smagmssT wLOML elokigsst e . Both plants and animals are made from
SeflomgemTe <00 0 2 (heuTameney “a few elements. Match the elements
HhEEBLET - DG -  FHAIGSMS with their percentage.
Glum@.@gl& mabtunier | N
A FUIUER o Elements ' Perécntage
RN LS gl_cuﬂmrmaam ot EGAIE a)  Oxygen i)’ 18%
.1) gb&am%m
‘i g " 7 B) Carbon i) 10%

by Emiver ¢y “Nitrogen i) 65%

©) m,rsurgm i) 65% d) ~ Hydrogen iv) 3%
d) sms;mmg;m iv) 39

S S P S 1) a—iii
I.a—~iii- b~ +c=iv i o 2) a—iii
2)a—iii b-iv c-ii d-i J)a-ii
Da-ii  b-iii,criv. d=i 4) a —ii
a-ii  b-iv c-i  d~iii

130. s Aflw gerallsh 2 6rer 9|amissmeT . Atoms which are extremely small in
i | ﬁl'ﬂ,fIJ jarefler GHIGSACHTLD. size are expressed in terms of
_h1o? moe02) 10"m oo oD 107m 2)10""m
3) 100'm . . 4)10"m 310 m 4)10"m

131, &flurar &.g']gna;smm CaitO5H &S L. 131. Choose the correct statements.
i) stmblstreumi) sdlisem CriGasmiips ‘ i) The cathode rays travel in
PQuigdlermer. | straight lines.
ii) sréinfletreumités &&i e (BgsrrLﬁlWT?iﬁmm ii) The cathode rays are positively
Qubmene. ' charged particles.
., i) @M Bleireumiis &Eiss, Henm wHmi iii) Cathode rays arexmade up of small -
- Pués gypmaimnLw Sy Piving | particles that have mass and Kinetic
glesnaeflemsd guemensy, ., 1 energy. i ' :
iv) srglmﬁ]msumuaa asgﬂrreim Sresumi iv) The cathode rays are otherwuse
SEiae ey emYssLILEREIDS. : called canal rays.
1)i&ii )i &iv - )i&ii 2) iii & iv
3i&iv 4) i & iii Ji&iv - )i &iii

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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RO SR Jgm wHgh GG
QLT msset Caing B sreorm
Camusgdlsir Hlewm ellHsib eretrear ?
ni1:2 2)8:1

4)2:1

yeorg seUureTTeayd, 2 Mg
GureTTa L | LS GI0UL06m60T & 6rfl6y
- LweiTuB S E.
1) S omerv 2) s
3) h&5GasTACTTEL  4) avurdemd
. . saumTer @amsmenius Coit0sHGsai.
) Ggeafliy B ursemd -&55M
2) STEIMUL UTEFRTID — EUTEOL
3) C56 bif ureamnd — Qmed
4) Qem @ B urgern — iy sne

. B . Goemeuufetr Il ULenLuiled
STEUTMIGEMST euenSLILIRGSieur wri ?

1) WeroLbir 2) summmibir

3) Lmieledr 4) QoerdrL 60

sanOless  SHarCardiym)
Sl elpeud SIS EHSHEG 2 6wrisy
2 aioT(® sTeoTUG QML subSsE).
1) gyflsvm’igeb
2) &Gimeveiv 6dlsiTGeuriisiy
- 3) J.C.Gumsiv
4) aflLGurmip.en

gmesflwrtiseflsd ksl Comeaumm

uGHsow B&@n Hleipsilstr Quuur

1) oSz

2) anfiyflsd SMHmIgHeh

3) gmisuenL. Qe

9) s8It pHgien

oUITSTUTIRIG: 6T LDMID summTesflerugsir
dig swirflésiubSsirmer.

1) emaGasrGumgiud GQumg

2) wrredledwr ¢ 2

3) Lowmi@ufen .. .

4) Qureflstrenu

www.TrbTnpsc.com

What is the ratio ‘of riass of ‘4. water
compound, which is made up of one
oxygen atom and two hy(lrogen' atoms?
1)1:2 f 2)8: ’

1 j 4)2

is used as anmepfu. Aﬂ(l .lbsurbent
b.m(ldgc in the hospital. |
1) Peatmoss " 2) Riceia -
3) Anthowms 4) Sphagnu-

Choose the incor rect pair, -

1) Sprinkler irvigation - Brinjal.
2) Furrow irrigation - — Binana
3) Basin irrvigation - Paddy

, 4) Drip irrigation e B i (,r‘ipes

4
#

Who classified the plants on thc basis of
their water requirement?

1) Fleming 'b) W.lrmmg

3) Darwin d) Mendal

invented crescograph  which
showed that plants have feelmg,,s
1) Aristotle
2) Carolous Linneaus
3) J.C.Bose

~4) Hippocrates

The process by which the chaff is
separated from the whole grain is
called ~ =

1) Cutting

2) Winnowing
3) Harvesting
4) Threshing

i ’i;)

T T e are used in the m'mllfclﬂl"'ml, of

paints and varnishes.

1) Lycopodium powder
2) Marselia
3)"Dryopteries

4) Resins
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Supra renal glands are located

1) on the top of kidneys
2) on the top of heart

3) on the top of pancreas
4) on the top of brain

Osteoporosis is a cendition in which

1) the bones become stronger
2) the bones become brittle
3) muscles become stronger
4) muscles become weaker

Vitamin C is abundantly found in

1) Dates

2) Potato

3) Bean sprouts
4) Carrot

. Who is called “The Bird man of

India”?
1) Humayun Abdul Ali

~2) Salim Al

3) Mohammed:Ali
4) Biswamoy Biswas

The purpose of food preservation is to

i) prevent food from spoilage

ii) retain the colour, taste and nutritive .
value of the food.

iii) enhance the growth of bacterla and
virus

1) only (i) is éorrect both ii & iii are
wrong.

2) Both i and ii are correct iii is wrong

3) i, ii & iii are correct"

4) i, ii & iii are wrong
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44.‘ Qurmsas : -
a)  UTE UM&6IT i)

Renass ii)
UM S6IT

Geu_® iii)
Lm&6iT
fsrs_eumis  iv) 8

UM &6iT ;
b-i"c—ii d-iv
b-iii "c—iv d-ii
b-i c—-iv d-ii .
b-iii ¢c—iv d-i-

1) a —iii
2)a-i
3) a —iii
4) a —ii

gifls o euemey g s
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3) smacusd) 4) ETus LmH
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13

144. Match the following:
a) Milk teeth i)

b) Permanent ii)
teeth

¢) Incisors iii)

d) Molars iv)

b-i
b — iii
b-i
b - iii

d -iv
d-—ii
d—ii
d-i

¢ —ii
¢ —iv
c—-iv
e—iv

1) a —iii
2)a—i
3) a —iii
4) a—ii

145.
‘ on a regular basis can cause
1) obesity 2) short sight
3) muscular pain  4) memory loss

seps ofiefiue / SOCIAL SCIENCE

QurmisTEMES CHiE0sHSsaL.
1) p&Seiveunt gyevwid

2) spsurt Gasmudlsy

3) NirsSevaunt Gamuile

4) glmusuGsraveurt Gamuils

QurmSgis.

a)  S(HLouTer

gusudlms
sogrfl

146. Find the odd one out.
1) Muktheeswara Temple
2) Aivar Kaoil
3) Brahadeeswara Temple
4) Thirubhuvaneswara Temple

Match the following :

Sanskrit

a) Dharmapala i)
- College

Fast food, if taken in large quantities

@rmreyGumsy
NASHedimsy
To&T

EOIrBISTITeY
Gamulisy

&hS uflens

LieuGsareigsur

[BTeTHBST
LSO &6meVE
&P&iLd

)a-i b-ii c—iv d-iii

2)a-ii b-iii
3a-iv b-i c-ii
4)a-i b-iv c-ii

c—iv d-i
d ~iii
d —iii

b) Rajabhoja ii)

c) Prithiviraj _iii)
Raso

d) Linga Raja iv)
Temple ‘

Chand Bardai -

Bhubaneshwar

Nalanda
University

1a-i b-ii c-iv d-iii

2)a—ii b-iii
3Ja~-iv b-i c-ii
4)a-i b-iv c-—ii

c—-iv d-i
d —iii
d - iii
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b — i
b-i
b — i
b — iii

c—iv d-i
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1) a —iii
2) a—iv
3)a—ii
4)a—i
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2) 1By umds S
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Copper currency system was introduced
by the ---eeamm--
1) Persians

3) Turks

2) Arabs:
4) Sultans

Which temple was constructed during]
the reign of Krishna Deva Raya?

1) Somnath Temple

2) Kailasanatha Temple

3) Vittalaswami Temple

4) Hazara Ramaswami Temple

Y

Match the following : .
a)  Tulsidas i) Bijaka

Ramcharit
manas

b) Manikavasagar ii)

¢) Ramanuja
d) Kabir

Tiruvasagam
iv) Vaishnavism

b —-ii
b-i

b —iii
b - iii

c—iv d-i
c—ii d-iii
c—-iv d-i
¢—iv d-ii

1) a —iii
2)a-iv
3)a—ii
4)a-i

Who was known as ‘Meeran Shabib’?
1) The sufi saints

2) Saint Mirabai

3) Saint Nagore Andavar

4) Maharastra saints

Which Indian king gave warm welcome
to portuguese sailor Vasco-Da-Gama?

1) Ramachandra deva

2) Singhana ' v

3) Jahangir "7

4) Zamorin

‘
o

The Chief architect of Tajmahal was ----
1) Ustad lIsa 2) Shah Jahan
3) Abul Fazal 4) Tansen
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The Calcutta Madflrasa was founded by
Warren Hastmgs in

1)1780 A.D 2)1781 A.D

3) 1785 A.D 4) 1786 A.D

Lord Cornwallis created Commxssnoner
of Police office at .
1) Bihar
3) Simla

2) Hyderabad
) Calcutta,

Which among the following sthfements;
are true? :
1) Raja Todar Mall translated
Bhagavata Purana into
Persian language. _
2) Abul Fazal translated Ramayana and
Mahabaratha into persian language.
3) Tansen was a great musician in
Akbar’s court.
4) Humayun constructed a building
known as Ibadat Khana.
)i, i
3) iii, iv

Lord Cornwallis introduced Perﬁianent
Settlement Act initially at 4

1) Bengal 2) Chennai

4) Hyderabads: ;

The fine specimen of temple architecture
during Rajputs period is

1) Dilwara temple

2) Shore temple

3) Thousand pillar temple

4) Elephanta cave tgmple

vyt l‘ ‘!

Who introduced the ‘Chain of:Jirsfice’?
1) Akbax 2) Humayun e
3) Jahangir 4) Shah Jahan®
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. ‘Shershah Mausoleum is located at

1) Amarkot 2) Sasaram’
3) Delhi ~ 4)Agra-

Large scale vertical: movements of th
earth’s crust are called movements.
1) Anticlines j

2) Synclines

3) Epirogenic

4).Orogenic

] .\"Il-

The Oceamc crust ‘SIMA’ is made up o

1) Silica.and. Molybdenum

2) Silica and Magnesium
3) Silica and Manganeése
4) Silica and Magdalium

. Tne extinct volcanoes of Panaka Hills

are found at

1) Andhra, Pradesh

2) Arunachal Pradesh
3) Andaman

4) Africa

Match the following :
a) BushFire i) Brazil

b) Famine ii) Pacific Ocean
¢) Forest fire ili) Indonesia

d) Trade . iv) Australia
winds o

a—iv b-iii c—ii d-i

2)a—-iv b-iii c-i d-ii

3)a-ii b-iv c-=i d-iii

a-i  b-iv c-iii d-ii
¢ © g8

The eye of a cyclone is a

1) Coastal area

2) Vacuum area’

3) High Pressure area

4) Low pressure area
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High Damage Risk Zone in India is
1) Bihar ‘ 2) Punjab
3) Andaman- © 4) Tamil Nadu

When the dodis and windows become
‘tightened, it is a warning SIgnal of

1) Volcanic Eruptlonc ‘

2) Cyclones

3) Landslides

4) Earth Quakes

The Challenger Dee{) is a Trench

1) South Paclﬁc Ocean
2) North PdClﬁc Oce‘ln
3) Antarctic ()se‘m B
4) Atl‘mtm Oce“m |

A fp

9.. From which one of the following crops,‘E

bio fuels are produced?

1) Tea and coffee

2) Cotton and Jute ., ...,

3) Sugarcane and Jetropha
4) Paddy and wheat

The mineral which allows light to pass
thr0l|0h is
1) Tin-

3) Asbestos

2) Sulphur
4) Mica

The ﬁrst fuel which caused the

_.y.Andustrial Revolution. is

1) Petroleum
“2) Crude oil
3) Coal '
4) Natural Gas

This is a non -metallic mineral "
1) Copper 2) Diamond
3) Bauxite 4) Magnetlte

ais
oy

The soil which replenishes
continuously-is -
1).Black soil

3) Sandy Soil

-2) Red soil .
4) Alluvial Soil
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. Loewr @eflikg 2 enm Geuliuflene
1) 5°C

2)6" C

3)4'C

4)8'C

: Glurr@,r:r,g)rrg,@sﬁmmmgﬁgﬁﬁ,@g@és&sql.b.
1) BHEL S5

2)SAIL Gasuid

3) TAMIN
4) TISCO
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The soil gets cold and condensed whe
the temperature falls below

1) 5°C

2)6" C

3)4'C

4) 8°C

Choose the incorrect pair:
1) BHEL - Trichy
2) SAIL. -
3) TAMIN -

» Salem
Tiruvananthapuram

Jamshedpur

Name the leader who demanded the
Right to Education for Indian Childre

“in the Imperial Legislative Assembly.

1) Rajaram Mohan Roy

2) Dr. Radhakrishnan

3) Gopala Krishna Gokhale
4) Subramaniya Bharathiyar

has been declared as an officia
link language.
1) Hindi
3) Sanskrit

2) Tamil
4) English

The Helpline number of Ambulancg
service in Tamilnadu is

2) 101

3) 103 4) 108

Who is the chairperson of the Nationa
Human Rights Commission at present?
1) Shri Satyendra Paul

2) Shri.Justice H.L.Dattu

3) Justice Dr.K.Ramaswamy

4) Justice Ms.M.Fathima Beevi
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180. Gurmssis: ' 180. Match the following :

a) lp&bur 10 i) @mET.Slerd a) 10" i) UNO day
December
b) Q&HCLILT24  ji) 208 wWESST b) 24" ii)  World
Qgrens October Population
: SleurLo . o : Day
¢ e 1 S e 8 L™Jdly iy World 3
30 Literacy Day -
6T . 2
Qﬁiﬁ@m d) 8" iv) Human’
d) Qe 8 iv) wefls September - Rights;Day

2 flemussr
Sleurid

c—i d-iii c—i d-iii
c—i d-ii iv c~i d-ii oo
c—iii- d—ii Ce—iii d—ii
c—ii d-iii : i c—ii d-iii
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